

| BIDDERS:  |                      |      | ENGINEER'S ESTIMATE |              | SELLAND CONSTRUCTION, INC. |              | SHAMROCK PAVING, INC. |              | M.A. DEATLEY CONSTRUCTION, INC. |              | KNIFE RIVER CORP. |              | LIBERTY NW CONSTRUCTION |              |
|---|----------------------|------|---------------------|--------------|----------------------------|--------------|-----------------------|--------------|---------------------------------|--------------|-------------------|--------------|-------------------------|--------------|
| DESCRIPTION                                     | ESTIMATED QUANTITIES | UNIT | UNIT PRICE          | TOTAL PRICE  | UNIT PRICE                 | TOTAL PRICE  | UNIT PRICE            | TOTAL PRICE  | UNIT PRICE                      | TOTAL PRICE  | UNIT PRICE        | TOTAL PRICE  | UNIT PRICE              | TOTAL PRICE  |
| MOBILIZATION                                    | 1                    | L.S. | \$ 425,000.00       | \$425,000.00 | \$58,325.00                | \$58,325.00  | \$177,000.00          | \$177,000.00 | \$235,000.00                    | \$235,000.00 | \$363,600.00      | \$363,600.00 | \$220,844.00            | \$220,844.00 |
| CLEARING AND GRUBBING                           | 1                    | L.S. | \$ 65,000.00        | \$65,000.00  | \$81,885.00                | \$81,885.00  | \$21,000.00           | \$21,000.00  | \$10,000.00                     | \$10,000.00  | \$64,601.00       | \$64,601.00  | \$17,926.00             | \$17,926.00  |
| REMOVAL OF STRUCTURES AND OBSTRUCTIONS          | 1                    | L.S. | \$ 30,000.00        | \$30,000.00  | \$24,000.00                | \$24,000.00  | \$20,000.00           | \$20,000.00  | \$10,000.00                     | \$10,000.00  | \$35,000.00       | \$35,000.00  | \$6,931.00              | \$6,931.00   |
| ROADWAY EXCAVATION INCL. HAUL                   | 20,567               | C.Y. | \$ 19.50            | \$401,056.50 | \$10.00                    | \$205,670.00 | \$12.00               | \$246,804.00 | \$22.00                         | \$452,474.00 | \$8.00            | \$164,536.00 | \$9.00                  | \$185,103.00 |
| COMMON BORROW INCL. HAUL                        | 255                  | C.Y. | \$ 12.00            | \$3,060.00   | \$29.00                    | \$7,395.00   | \$50.00               | \$12,750.00  | \$22.00                         | \$5,610.00   | \$22.75           | \$5,801.25   | \$40.00                 | \$10,200.00  |
| EMBANKMENT COMPACTION                           | 20,567               | C.Y. | \$ 7.00             | \$143,969.00 | \$0.50                     | \$10,283.50  | \$5.00                | \$102,835.00 | \$0.25                          | \$5,141.75   | \$4.00            | \$82,268.00  | \$1.50                  | \$30,850.50  |
| SHOT ROCK EMBANKMENT COMPACTION                 | 17,320               | C.Y. | \$ 25.00            | \$433,000.00 | \$28.60                    | \$495,352.00 | \$31.00               | \$536,920.00 | \$36.00                         | \$623,520.00 | \$20.25           | \$350,730.00 | \$30.00                 | \$519,600.00 |
| PLAIN ST. CULV. PIPE 0.064 IN. TH. 18 IN. DIAM. | 284                  | L.F. | \$ 115.00           | \$32,660.00  | \$55.00                    | \$15,620.00  | \$33.00               | \$9,372.00   | \$75.00                         | \$21,300.00  | \$113.50          | \$32,234.00  | \$61.00                 | \$17,324.00  |
| PLAIN ST. CULV. PIPE 0.064 IN. TH. 24 IN. DIAM. | 1,026                | L.F. | \$ 170.00           | \$174,420.00 | \$75.00                    | \$76,950.00  | \$44.00               | \$45,144.00  | \$130.00                        | \$133,380.00 | \$121.00          | \$124,146.00 | \$75.00                 | \$76,950.00  |
| PLAIN ST. CULV. PIPE 0.064 IN. TH. 36 IN. DIAM. | 304                  | L.F. | \$ 200.00           | \$60,800.00  | \$115.00                   | \$34,960.00  | \$62.00               | \$18,848.00  | \$155.00                        | \$47,120.00  | \$181.00          | \$55,024.00  | \$95.00                 | \$28,880.00  |
| PLAIN ST. CULV. PIPE 0.138 IN. TH. 48 IN. DIAM. | 159                  | L.F. | \$ 275.00           | \$43,725.00  | \$150.00                   | \$23,850.00  | \$165.00              | \$26,235.00  | \$325.00                        | \$51,675.00  | \$343.50          | \$54,616.50  | \$255.00                | \$40,545.00  |
| CRUSHED 4" MINUS                                | 31,700               | TON  | \$ 17.50            | \$554,750.00 | \$19.40                    | \$614,980.00 | \$16.00               | \$507,200.00 | \$14.00                         | \$443,800.00 | \$17.50           | \$554,750.00 | \$21.00                 | \$665,700.00 |
| CRUSHED SURFACING TOP COURSE                    | 21,975               | TON  | \$ 20.00            | \$439,500.00 | \$19.40                    | \$426,315.00 | \$21.00               | \$461,475.00 | \$16.00                         | \$351,600.00 | \$20.50           | \$450,487.50 | \$22.00                 | \$483,450.00 |
| HMA CL. 1/2 IN. PG 64-28                        | 7,450                | TON  | \$ 130.00           | \$968,500.00 | \$107.00                   | \$797,150.00 | \$97.00               | \$722,650.00 | \$97.00                         | \$722,650.00 | \$105.75          | \$787,837.50 | \$116.00                | \$864,200.00 |
| JOB MIX COMPLIANCE PRICE ADJUSTMENT             | 1                    | CALC | \$ (1.00)           | (\$1.00)     | (\$1.00)                   | (\$1.00)     | (\$1.00)              | (\$1.00)     | (\$1.00)                        | (\$1.00)     | (\$1.00)          | (\$1.00)     | (\$1.00)                | (\$1.00)     |
| COMPACTION PRICE ADJUSTMENT                     | 1                    | CALC | \$ (1.00)           | (\$1.00)     | (\$1.00)                   | (\$1.00)     | (\$1.00)              | (\$1.00)     | (\$1.00)                        | (\$1.00)     | (\$1.00)          | (\$1.00)     | (\$1.00)                | (\$1.00)     |
| SILT FENCE                                      | 8,940                | L.F. | \$ 7.50             | \$67,050.00  | \$4.00                     | \$35,760.00  | \$3.50                | \$31,290.00  | \$4.05                          | \$36,207.00  | \$2.75            | \$24,585.00  | \$4.50                  | \$40,230.00  |
| ESC LEAD  | 15                   | DAY  | \$ 250.00           | \$3,750.00   | \$50.00                    | \$750.00     | \$105.00              | \$1,575.00   | \$250.00                        | \$3,750.00   | \$400.00          | \$6,000.00   | \$299.00                | \$4,485.00   |
| SEEDING, FERTILIZING, AND MULCHING              | 3                    | ACRE | \$ 5,000.00         | \$15,000.00  | \$4,300.00                 | \$12,900.00  | \$3,000.00            | \$9,000.00   | \$4,350.00                      | \$13,050.00  | \$3,515.00        | \$10,545.00  | \$3,585.00              | \$10,755.00  |
| HIGH VISIBILITY FENCE                           | 5,750                | L.F. | \$ 7.00             | \$40,250.00  | \$2.50                     | \$14,375.00  | \$3.00                | \$17,250.00  | \$3.35                          | \$19,262.50  | \$2.20            | \$12,650.00  | \$5.00                  | \$28,750.00  |
| PAINT LINE                                      | 49,420               | L.F. | \$ 0.25             | \$12,355.00  | \$0.25                     | \$12,355.00  | \$0.19                | \$9,389.80   | \$0.20                          | \$9,884.00   | \$0.20            | \$9,884.00   | \$0.20                  | \$9,884.00   |
| FLEXIBLE GUIDE POST                             | 90                   | EACH | \$ 50.00            | \$4,500.00   | \$67.00                    | \$6,030.00   | \$60.00               | \$5,400.00   | \$65.00                         | \$5,850.00   | \$64.50           | \$5,805.00   | \$71.00                 | \$6,390.00   |

| BIDDERS:                                       |                      |      | ENGINEER'S ESTIMATE |                | SELLAND CONSTRUCTION, INC. |                | SHAMROCK PAVING, INC. |                | M.A. DEATLEY CONSTRUCTION, INC. |                | KNIFE RIVER CORP. |                | LIBERTY NW CONSTRUCTION |                |
|--|----------------------|------|---------------------|----------------|----------------------------|----------------|-----------------------|----------------|---------------------------------|----------------|-------------------|----------------|-------------------------|----------------|
| DESCRIPTION                                    | ESTIMATED QUANTITIES | UNIT | UNIT PRICE          | TOTAL PRICE    | UNIT PRICE                 | TOTAL PRICE    | UNIT PRICE            | TOTAL PRICE    | UNIT PRICE                      | TOTAL PRICE    | UNIT PRICE        | TOTAL PRICE    | UNIT PRICE              | TOTAL PRICE    |
| TEMPORARY PAVEMENT MARKING - SHORT DURATION    | 16,475               | L.F. | \$ 0.60             | \$9,885.00     | \$0.60                     | \$9,885.00     | \$0.50                | \$8,237.50     | \$0.50                          | \$8,237.50     | \$0.85            | \$14,003.75    | \$0.80                  | \$13,180.00    |
| TRAFFIC CONTROL SUPERVISOR                     | 1                    | L.S. | \$ 125,000.00       | \$125,000.00   | \$71,015.00                | \$71,015.00    | \$103,768.45          | \$103,768.45   | \$125,000.00                    | \$125,000.00   | \$117,000.00      | \$117,000.00   | \$115,507.00            | \$115,507.00   |
| FLAGGERS                                       | 1,670                | HOUR | \$ 75.00            | \$125,250.00   | \$82.00                    | \$136,940.00   | \$75.00               | \$125,250.00   | \$75.00                         | \$125,250.00   | \$65.00           | \$108,550.00   | \$87.00                 | \$145,290.00   |
| CONSTRUCTION SIGNS CLASS A                     | 475                  | S.F. | \$ 30.00            | \$14,250.00    | \$15.00                    | \$7,125.00     | \$24.00               | \$11,400.00    | \$13.25                         | \$6,293.75     | \$13.50           | \$6,412.50     | \$12.00                 | \$5,700.00     |
| OTHER TRAFFIC CONTROL LABOR                    | 220                  | HOUR | \$ 75.00            | \$16,500.00    | \$100.00                   | \$22,000.00    | \$95.00               | \$20,900.00    | \$75.00                         | \$16,500.00    | \$92.00           | \$20,240.00    | \$87.00                 | \$19,140.00    |
| STRUCTURE EXCAVATION CLASS B INCL. HAUL        | 1,827                | C.Y. | \$ 12.50            | \$22,837.50    | \$1.00                     | \$1,827.00     | \$37.00               | \$67,599.00    | \$8.00                          | \$14,616.00    | \$10.00           | \$18,270.00    | \$32.00                 | \$58,464.00    |
| SHORING OR EXTRA EXCAVATION CLASS B            | 8,277                | S.F. | \$ 4.00             | \$33,108.00    | \$0.50                     | \$4,138.50     | \$4.75                | \$39,315.75    | \$0.25                          | \$2,069.25     | \$0.45            | \$3,724.65     | \$2.50                  | \$20,692.50    |
| WATER  | 1,500                | MGAL | \$ 17.50            | \$26,250.00    | \$10.00                    | \$15,000.00    | \$47.00               | \$70,500.00    | \$0.01                          | \$15.00        | \$6.60            | \$9,900.00     | \$3.50                  | \$5,250.00     |
| ROADWAY SURVEYING                              | 1                    | L.S. | \$ 65,000.00        | \$65,000.00    | \$80,000.00                | \$80,000.00    | \$50,000.00           | \$50,000.00    | \$25,000.00                     | \$25,000.00    | \$75,000.00       | \$75,000.00    | \$40,303.00             | \$40,303.00    |
| MONUMENT CASE AND COVER                        | 4                    | EACH | \$ 1,350.00         | \$5,400.00     | \$1,000.00                 | \$4,000.00     | \$3,600.00            | \$14,400.00    | \$1,000.00                      | \$4,000.00     | \$1,650.00        | \$6,600.00     | \$1.00                  | \$4.00         |
| TRIMMING AND CLEANUP                           | 1                    | L.S. | \$ 13,920.00        | \$13,920.00    | \$10,000.00                | \$10,000.00    | \$17,500.00           | \$17,500.00    | \$5,500.00                      | \$5,500.00     | \$7,821.85        | \$7,821.85     | \$5,586.00              | \$5,586.00     |
| CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION | 12,200               | S.Y. | \$ 4.00             | \$48,800.00    | \$2.00                     | \$24,400.00    | \$1.50                | \$18,300.00    | \$4.00                          | \$48,800.00    | \$1.50            | \$18,300.00    | \$3.50                  | \$42,700.00    |
| MAILBOX SUPPORT TYPE 1                         | 3                    | EACH | \$ 750.00           | \$2,250.00     | \$750.00                   | \$2,250.00     | \$825.00              | \$2,475.00     | \$775.00                        | \$2,325.00     | \$850.00          | \$2,550.00     | \$950.00                | \$2,850.00     |
| AGGREGATE COMPLIANCE PRICE ADJUSTMENT          | 1                    | CALC | \$ (1.00)           | (\$1.00)       | (\$1.00)                   | (\$1.00)       | (\$1.00)              | (\$1.00)       | (\$1.00)                        | (\$1.00)       | (\$1.00)          | (\$1.00)       | (\$1.00)                | (\$1.00)       |
| SPCC PLAN                                      | 1                    | L.S. | \$ 1,500.00         | \$1,500.00     | \$500.00                   | \$500.00       | \$1,000.00            | \$1,000.00     | \$500.00                        | \$500.00       | \$2,400.00        | \$2,400.00     | \$1,793.00              | \$1,793.00     |
| REMOVE EXISTING FENCE                          | 1,470                | L.F. | \$ 9.00             | \$13,230.00    | \$2.00                     | \$2,940.00     | \$3.25                | \$4,777.50     | \$3.05                          | \$4,483.50     | \$2.25            | \$3,307.50     | \$3.50                  | \$5,145.00     |
| WIRE FENCE TYPE A                              | 1,454                | L.F. | \$ 15.00            | \$21,810.00    | \$6.00                     | \$8,724.00     | \$14.00               | \$20,356.00    | \$13.60                         | \$19,774.40    | \$16.50           | \$23,991.00    | \$16.00                 | \$23,264.00    |
| REMOVE AND RESET EXISTING GATE                 | 1                    | EACH | \$ 500.00           | \$500.00       | \$3,000.00                 | \$3,000.00     | \$150.00              | \$150.00       | \$150.00                        | \$150.00       | \$1,500.00        | \$1,500.00     | \$178.00                | \$178.00       |
| REMOVE AND RESET EXISTING ELECTRIC FENCE       | 121                  | L.F. | \$ 20.00            | \$2,420.00     | \$10.00                    | \$1,210.00     | \$16.00               | \$1,936.00     | \$15.75                         | \$1,905.75     | \$11.00           | \$1,331.00     | \$19.00                 | \$2,299.00     |
| BASIS OF AWARD: TOTAL BID ITEMS 1-41           |                      |      |                     | \$4,466,253.00 |                            | \$3,359,857.00 |                       | \$3,560,000.00 |                                 | \$3,611,691.40 |                   | \$3,636,000.00 |                         | \$3,776,340.00 |

| BIDDERS: |   |                      |      | COPENHAVER CONSTRUCTION, INC. |              | CULBERT CONSTRUCTION, INC. |              | CORRIDOR CONTRACTORS, LLC |              | HALME CONSTRUCTION, INC. |              | N.A. DEGERSTROM, INC. |              | GRANITE CONSTRUCTION COMPANY |              |
|----------|---|----------------------|------|-------------------------------|--------------|----------------------------|--------------|---------------------------|--------------|--------------------------|--------------|-----------------------|--------------|------------------------------|--------------|
| ITEM NO. | DESCRIPTION                                     | ESTIMATED QUANTITIES | UNIT | UNIT PRICE                    | TOTAL PRICE  | UNIT PRICE                 | TOTAL PRICE  | UNIT PRICE                | TOTAL PRICE  | UNIT PRICE               | TOTAL PRICE  | UNIT PRICE            | TOTAL PRICE  | UNIT PRICE                   | TOTAL PRICE  |
| 1        | MOBILIZATION                                    | 1                    | L.S. | \$380,000.00                  | \$380,000.00 | \$376,758.97               | \$376,758.97 | \$280,000.00              | \$280,000.00 | \$390,000.00             | \$390,000.00 | \$390,000.00          | \$390,000.00 | \$184,000.00                 | \$184,000.00 |
| 2        | CLEARING AND GRUBBING                           | 1                    | L.S. | \$50,000.00                   | \$50,000.00  | \$43,276.55                | \$43,276.55  | \$145,006.00              | \$145,006.00 | \$115,000.00             | \$115,000.00 | \$30,000.00           | \$30,000.00  | \$100,000.00                 | \$100,000.00 |
| 3        | REMOVAL OF STRUCTURES AND OBSTRUCTIONS          | 1                    | L.S. | \$37,000.00                   | \$37,000.00  | \$15,954.40                | \$15,954.40  | \$15,556.00               | \$15,556.00  | \$5,508.00               | \$5,508.00   | \$35,000.00           | \$35,000.00  | \$21,000.00                  | \$21,000.00  |
| 4        | ROADWAY EXCAVATION INCL. HAUL                   | 20,567               | C.Y. | \$5.50                        | \$113,118.50 | \$9.29                     | \$191,067.43 | \$14.25                   | \$293,079.75 | \$6.40                   | \$131,628.80 | \$13.00               | \$267,371.00 | \$8.60                       | \$176,876.20 |
| 5        | COMMON BORROW INCL. HAUL                        | 255                  | C.Y. | \$25.00                       | \$6,375.00   | \$48.04                    | \$12,250.20  | \$40.00                   | \$10,200.00  | \$42.60                  | \$10,863.00  | \$75.00               | \$19,125.00  | \$68.00                      | \$17,340.00  |
| 6        | EMBANKMENT COMPACTION                           | 20,567               | C.Y. | \$2.00                        | \$41,134.00  | \$2.23                     | \$45,864.41  | \$4.65                    | \$95,636.55  | \$1.70                   | \$34,963.90  | \$4.00                | \$82,268.00  | \$4.85                       | \$99,749.95  |
| 7        | SHOT ROCK EMBANKMENT COMPACTION                 | 17,320               | C.Y. | \$33.00                       | \$571,560.00 | \$32.76                    | \$567,403.20 | \$26.70                   | \$462,444.00 | \$36.10                  | \$625,252.00 | \$29.00               | \$502,280.00 | \$52.50                      | \$909,300.00 |
| 8        | PLAIN ST. CULV. PIPE 0.064 IN. TH. 18 IN. DIAM. | 284                  | L.F. | \$140.00                      | \$39,760.00  | \$92.68                    | \$26,321.12  | \$105.00                  | \$29,820.00  | \$105.20                 | \$29,876.80  | \$109.00              | \$30,956.00  | \$103.00                     | \$29,252.00  |
| 9        | PLAIN ST. CULV. PIPE 0.064 IN. TH. 24 IN. DIAM. | 1,026                | L.F. | \$160.00                      | \$164,160.00 | \$114.54                   | \$117,518.04 | \$103.00                  | \$105,678.00 | \$113.60                 | \$116,553.60 | \$140.00              | \$143,640.00 | \$126.25                     | \$129,532.50 |
| 10       | PLAIN ST. CULV. PIPE 0.064 IN. TH. 36 IN. DIAM. | 304                  | L.F. | \$200.00                      | \$60,800.00  | \$153.41                   | \$46,636.64  | \$150.00                  | \$45,600.00  | \$187.70                 | \$57,060.80  | \$195.00              | \$59,280.00  | \$215.00                     | \$65,360.00  |
| 11       | PLAIN ST. CULV. PIPE 0.138 IN. TH. 48 IN. DIAM. | 159                  | L.F. | \$380.00                      | \$60,420.00  | \$286.01                   | \$45,475.59  | \$299.00                  | \$47,541.00  | \$304.30                 | \$48,383.70  | \$359.00              | \$57,081.00  | \$420.00                     | \$66,780.00  |
| 12       | CRUSHED 4" MINUS                                | 31,700               | TON  | \$17.50                       | \$554,750.00 | \$18.49                    | \$586,133.00 | \$17.70                   | \$561,090.00 | \$15.60                  | \$494,520.00 | \$20.00               | \$634,000.00 | \$21.75                      | \$689,475.00 |
| 13       | CRUSHED SURFACING TOP COURSE                    | 21,975               | TON  | \$23.00                       | \$505,425.00 | \$23.73                    | \$521,466.75 | \$21.70                   | \$476,857.50 | \$19.50                  | \$428,512.50 | \$27.00               | \$593,325.00 | \$26.90                      | \$591,127.50 |
| 14       | HMA CL. 1/2 IN. PG 64-28                        | 7,450                | TON  | \$100.00                      | \$745,000.00 | \$99.43                    | \$740,753.50 | \$106.00                  | \$789,700.00 | \$123.90                 | \$923,055.00 | \$105.00              | \$782,250.00 | \$97.00                      | \$722,650.00 |
| 15       | JOB MIX COMPLIANCE PRICE ADJUSTMENT             | 1                    | CALC | (\$1.00)                      | (\$1.00)     | (\$1.00)                   | (\$1.00)     | (\$1.00)                  | (\$1.00)     | (\$1.00)                 | (\$1.00)     | (\$1.00)              | (\$1.00)     | (\$1.00)                     | (\$1.00)     |
| 16       | COMPACTION PRICE ADJUSTMENT                     | 1                    | CALC | (\$1.00)                      | (\$1.00)     | (\$1.00)                   | (\$1.00)     | (\$1.00)                  | (\$1.00)     | (\$1.00)                 | (\$1.00)     | (\$1.00)              | (\$1.00)     | (\$1.00)                     | (\$1.00)     |
| 17       | SILT FENCE                                      | 8,940                | L.F. | \$4.00                        | \$35,760.00  | \$3.65                     | \$32,631.00  | \$5.50                    | \$49,170.00  | \$3.40                   | \$30,396.00  | \$9.00                | \$80,460.00  | \$6.95                       | \$62,133.00  |
| 18       | ESC LEAD  | 15                   | DAY  | \$250.00                      | \$3,750.00   | \$90.35                    | \$1,355.25   | \$905.00                  | \$13,575.00  | \$1,284.00               | \$19,260.00  | \$1,500.00            | \$22,500.00  | \$125.00                     | \$1,875.00   |
| 19       | SEEDING, FERTILIZING, AND MULCHING              | 3                    | ACRE | \$3,000.00                    | \$9,000.00   | \$5,976.60                 | \$17,929.80  | \$4,163.00                | \$12,489.00  | \$3,851.30               | \$11,553.90  | \$8,200.00            | \$24,600.00  | \$5,400.00                   | \$16,200.00  |
| 20       | HIGH VISIBILITY FENCE                           | 5,750                | L.F. | \$4.00                        | \$23,000.00  | \$3.06                     | \$17,595.00  | \$3.30                    | \$18,975.00  | \$3.90                   | \$22,425.00  | \$5.00                | \$28,750.00  | \$6.00                       | \$34,500.00  |
| 21       | PAINT LINE                                      | 49,420               | L.F. | \$0.20                        | \$9,884.00   | \$0.28                     | \$13,837.60  | \$0.31                    | \$15,320.20  | \$0.30                   | \$14,826.00  | \$0.25                | \$12,355.00  | \$0.25                       | \$12,355.00  |
| 22       | FLEXIBLE GUIDE POST                             | 90                   | EACH | \$70.00                       | \$6,300.00   | \$61.50                    | \$5,535.00   | \$75.00                   | \$6,750.00   | \$83.50                  | \$7,515.00   | \$125.00              | \$11,250.00  | \$60.00                      | \$5,400.00   |

| BIDDERS: |  |                      |      | COPENHAVER CONSTRUCTION, INC. |                | CULBERT CONSTRUCTION, INC. |                | CORRIDOR CONTRACTORS, LLC |                | HALME CONSTRUCTION, INC. |                | N.A. DEGERSTROM, INC. |                | GRANITE CONSTRUCTION COMPANY |                |
|----------|--|----------------------|------|-------------------------------|----------------|----------------------------|----------------|---------------------------|----------------|--------------------------|----------------|-----------------------|----------------|------------------------------|----------------|
| ITEM NO. | DESCRIPTION                                    | ESTIMATED QUANTITIES | UNIT | UNIT PRICE                    | TOTAL PRICE    | UNIT PRICE                 | TOTAL PRICE    | UNIT PRICE                | TOTAL PRICE    | UNIT PRICE               | TOTAL PRICE    | UNIT PRICE            | TOTAL PRICE    | UNIT PRICE                   | TOTAL PRICE    |
| 23       | TEMPORARY PAVEMENT MARKING - SHORT DURATION    | 16,475               | L.F. | \$0.35                        | \$5,766.25     | \$0.31                     | \$5,107.25     | \$0.72                    | \$11,862.00    | \$0.40                   | \$6,590.00     | \$0.65                | \$10,708.75    | \$0.30                       | \$4,942.50     |
| 24       | TRAFFIC CONTROL SUPERVISOR                     | 1                    | L.S. | \$87,000.00                   | \$87,000.00    | \$79,543.62                | \$79,543.62    | \$120,000.00              | \$120,000.00   | \$128,396.70             | \$128,396.70   | \$130,000.00          | \$130,000.00   | \$100,300.00                 | \$100,300.00   |
| 25       | FLAGGERS                                       | 1,670                | HOUR | \$80.00                       | \$133,600.00   | \$77.90                    | \$130,093.00   | \$75.00                   | \$125,250.00   | \$175.00                 | \$292,250.00   | \$90.00               | \$150,300.00   | \$76.00                      | \$126,920.00   |
| 26       | CONSTRUCTION SIGNS CLASS A                     | 475                  | S.F. | \$6.00                        | \$2,850.00     | \$87.13                    | \$41,386.75    | \$46.75                   | \$22,206.25    | \$36.00                  | \$17,100.00    | \$14.00               | \$6,650.00     | \$85.00                      | \$40,375.00    |
| 27       | OTHER TRAFFIC CONTROL LABOR                    | 220                  | HOUR | \$80.00                       | \$17,600.00    | \$107.63                   | \$23,678.60    | \$90.00                   | \$19,800.00    | \$96.30                  | \$21,186.00    | \$100.00              | \$22,000.00    | \$105.00                     | \$23,100.00    |
| 28       | STRUCTURE EXCAVATION CLASS B INCL. HAUL        | 1,827                | C.Y. | \$8.00                        | \$14,616.00    | \$4.81                     | \$8,787.87     | \$17.50                   | \$31,972.50    | \$18.60                  | \$33,982.20    | \$1.00                | \$1,827.00     | \$6.05                       | \$11,053.35    |
| 29       | SHORING OR EXTRA EXCAVATION CLASS B            | 8,277                | S.F. | \$0.20                        | \$1,655.40     | \$0.13                     | \$1,076.01     | \$0.85                    | \$7,035.45     | \$0.80                   | \$6,621.60     | \$1.00                | \$8,277.00     | \$0.45                       | \$3,724.65     |
| 30       | WATER  | 1,500                | MGAL | \$14.00                       | \$21,000.00    | \$0.34                     | \$510.00       | \$25.00                   | \$37,500.00    | \$85.60                  | \$128,400.00   | \$75.00               | \$112,500.00   | \$58.00                      | \$87,000.00    |
| 31       | ROADWAY SURVEYING                              | 1                    | L.S. | \$20,000.00                   | \$20,000.00    | \$22,709.52                | \$22,709.52    | \$46,000.00               | \$46,000.00    | \$57,778.50              | \$57,778.50    | \$30,000.00           | \$30,000.00    | \$39,765.00                  | \$39,765.00    |
| 32       | MONUMENT CASE AND COVER                        | 4                    | EACH | \$1,700.00                    | \$6,800.00     | \$640.52                   | \$2,562.08     | \$700.00                  | \$2,800.00     | \$1,330.50               | \$5,322.00     | \$1,000.00            | \$4,000.00     | \$2,000.00                   | \$8,000.00     |
| 33       | TRIMMING AND CLEANUP                           | 1                    | L.S. | \$10,000.00                   | \$10,000.00    | \$48,204.96                | \$48,204.96    | \$37,120.00               | \$37,120.00    | \$69,897.90              | \$69,897.90    | \$30,000.00           | \$30,000.00    | \$23,000.00                  | \$23,000.00    |
| 34       | CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION | 12,200               | S.Y. | \$2.50                        | \$30,500.00    | \$1.57                     | \$19,154.00    | \$1.75                    | \$21,350.00    | \$2.10                   | \$25,620.00    | \$3.00                | \$36,600.00    | \$4.10                       | \$50,020.00    |
| 35       | MAILBOX SUPPORT TYPE 1                         | 3                    | EACH | \$800.00                      | \$2,400.00     | \$958.93                   | \$2,876.79     | \$675.00                  | \$2,025.00     | \$995.10                 | \$2,985.30     | \$1,300.00            | \$3,900.00     | \$1,200.00                   | \$3,600.00     |
| 36       | AGGREGATE COMPLIANCE PRICE ADJUSTMENT          | 1                    | CALC | (\$1.00)                      | (\$1.00)       | (\$1.00)                   | (\$1.00)       | (\$1.00)                  | (\$1.00)       | (\$1.00)                 | (\$1.00)       | (\$1.00)              | (\$1.00)       | (\$1.00)                     | (\$1.00)       |
| 37       | SPCC PLAN                                      | 1                    | L.S. | \$2,500.00                    | \$2,500.00     | \$132.48                   | \$132.48       | \$2,500.00                | \$2,500.00     | \$3,209.90               | \$3,209.90     | \$2,500.00            | \$2,500.00     | \$1,000.00                   | \$1,000.00     |
| 38       | REMOVE EXISTING FENCE                          | 1,470                | L.F. | \$3.00                        | \$4,410.00     | \$5.22                     | \$7,673.40     | \$3.20                    | \$4,704.00     | \$3.90                   | \$5,733.00     | \$3.10                | \$4,557.00     | \$3.05                       | \$4,483.50     |
| 39       | WIRE FENCE TYPE A                              | 1,454                | L.F. | \$14.00                       | \$20,356.00    | \$13.94                    | \$20,268.76    | \$17.55                   | \$25,517.70    | \$17.50                  | \$25,445.00    | \$14.00               | \$20,356.00    | \$13.60                      | \$19,774.40    |
| 40       | REMOVE AND RESET EXISTING GATE                 | 1                    | EACH | \$150.00                      | \$150.00       | \$152.73                   | \$152.73       | \$165.00                  | \$165.00       | \$191.00                 | \$191.00       | \$150.00              | \$150.00       | \$150.00                     | \$150.00       |
| 41       | REMOVE AND RESET EXISTING ELECTRIC FENCE       | 121                  | L.F. | \$16.00                       | \$1,936.00     | \$16.15                    | \$1,954.15     | \$18.00                   | \$2,178.00     | \$20.20                  | \$2,444.20     | \$16.00               | \$1,936.00     | \$15.75                      | \$1,905.75     |
|          | BASIS OF AWARD: TOTAL BID ITEMS 1-41           |                      |      |                               | \$3,800,333.15 |                            | \$3,841,632.42 |                           | \$3,994,470.90 |                          | \$4,350,304.30 |                       | \$4,382,749.75 |                              | \$4,484,017.30 |